
1 

 

ก�������	
����
��������������ก�����	�
������������: 

�
!���"���#$�	�����%ก&�ก��'(�"�#)ก%��* +.".  2540 1 
- ����� ��	
���

�2 - 
arayah@econ.tu.ac.th 

������� � �!"# $��� �%
�� 
��&'(
� 
)��*%+�,(�,����
�
�
($-�ก(/ 01�1'��2	3 4 
-���� 2553 

__________________________________________________________________________ 
  
 '(ก8
ก��9�� �!"ก(/��+3��: ,. . 2540 <&=ก�����>�/-&���	3��%?���@2	31�*��1A)=B���-
%�)ก���
<2�A�C9���D�
=�*�	ก�����1
�'ก����E�*/�(*/�*�,+3��'����FE��&C�*
���* GF=���ก�1ก��2	3���1
�'<�E<&=กH

=�*�=�)��
��/�ก<�IJ3*กH�	��>�/?��'�<�E�=�� A�C9�2	3GF=���ก�1ก��2	3%����KLM�NO��O@)�/�GE��,=�
<�<&=กH/�PCH*Pก�E*��กCJD� �ก
�'��E�*�
E� ก�9	C�*�-
%�)ก��������
�<2�IJ3*��>��-
%�)ก���)�J3*2	3
<&=��1G�ก��21��E�*��กA�
E'*'(ก8
ก��9�&�*ก�E�'�,������2?�A)=�ก(&ก?���*ก��G�(
%E'��ก(���>�/?��'�
��ก�ก+�1/�2��2	2��A&Q&�<�E�	A����&�(&��กE�� B����ก
�P��B����"/J*
=�*�	ก�����1�-2$ �%
��P��
�Q�1��ก��C���A)@EQ&�ก��)��<�,J3*,�ก��%E*��ก��กCJD�
���?�&�1 ��>�
=�  
 /J*�ก(&�?�K��%?���@'E� ก'E�2 '��!2	3GE�����	D G�ก��21/�ก'(ก8
ก��9�� �!"ก(/A����D*��D�<&=
%�=�*�'�����	3��P��*A��
(*Q��*%�=�*C�*�*�����ก�1����B2�-
%�)ก��� (Industry Churning) A�P
E
��/�*)'�&��E�*<�1=�* P��ก�����	3��P��*&�*ก�E�'�	D/�<&=A)=����
(*�Q�1��2	3/��?�<�%FEก��ก?�)�&2( 2�*
2	3KFก
=�*C�*ก��,�Z���-
%�)ก���<2�A�������'
E�<�)�+�<�E��E�*<�1=�* 
 

��2
�����2����3
��ก�������	
����3��
��������������ก���ก��4�%��
������������ 
  G�2	3/��?��%��
E�<��	D ��>�ก��'�&C��&C�*ก�����	3��P��*Q��*%�=�*�*�����ก�1C�*����B2
�-
%�)ก��� (Industry Churning) A���&�1/�*)'�& IJ3*/����1��-���)'E�*�: ,. . 2540 P�� 2550 �,���
A
="��C=��F�ก��%?��'/%?���Q��-
%�)ก���A��: ,. . 2540 P�� 2550 C�*%?���ก*��%K(
(P)E*
�
(3 IJ3*�	
/?��'�%K�����ก�1ก��2�D*)�&�2E�ก�1 26,269 P)E*P�� 49,721 P)E*A��: ,. . 2540 P�� 2550 
���?�&�1 
P��<&=P1E*%�C��-
%�)ก���ก��G�(
��ก��>� 23 %�C��-
%�)ก���&='�ก��  

                                         
1
 12�'���	D�C	��CJD�/�กG�ก�� Jก!�1�*%E'�C�*Q��*ก��'(/����+3�*  � ก���ก�����	
����
��
������������ก��	������	��

������ก��
��������������: ก��
��ก��������ก��
����������� !�"ก#��� ก�� � IJ3*��>�Q��*ก��'(/��2	3<&=��1ก��%��1%�-�2-�'(/��/�ก 
�$������%��!�� 
ก��!�
���&%ก�����������
��ก��'#�!()*�ก��(�+���,������-����#
*�
 (��-.)  
2
  �%
��/�������/?��9�� �!" �%
�� �)�'(2�����$��� �%
�� 

3
 GF=�C	��C�C�1�-9%?���ก*��%K(
(P)E*
�
(%?�)��1�'����-�����)�A�&=��C=��F�ก��%?��'/%?���Q��-
%�)ก��� ,. . 2540 P�� 2550  



2 

 

 &�
�	
�'
	D'�&C��&C�*ก�����	3��P��*�*�����ก�1C�*����B2�-
%�)ก���ก��G�(
A���&�1
/�*)'�& ��	�ก'E� `Excess Churning Indexc IJ3*�C	����>�%F
�<&=&�*�	D 

( )
( ) ( ) ( ) ( )

( )

23

1

, , 2550 , , 2540 ,2550 ,2540
1
. 100

10 ,2540

z

e z c e z c e c e c

ExcessChurning Index c
e c

=

  
− − −  

  = ×
 
 
 

∑

 
Q&�2	3 Excess Churning Index (c) �+�&�
�	
�'
	D'�&C��&C�*ก�����	3��P��*�*�����ก�1C�*����B2
�-
%�)ก���C�*/�*)'�& c A& d %E'�
�'P�� e(z,c,t) �+�/?��'�P�**��2	3���1&='�
�'���1�-9B�,P�=' 
(Effective labor) C�*�-
%�)ก�������B2 z A�/�*)'�& c 2	3�'�� t (�+� ,. . 2540 P�� ,. . 2550)  
 &�
�	&�*ก�E�'�	D /��	�E�<&=A� 2 ก�9	
E�<��	D�2E���D��+�  

(ก) �	�E��2E�ก�1 F��� )�ก�-
%�)ก���2-ก����B2C���
�' (A��F�C�*ก���,(3�/?��'�ก��/=�*
P�**��2	3���1&='�
�'���1�-9B�,P�=' ()�+� Effective Labor)) A���
��2	3�2E� d ก��A�
E'*�'��)�J3* d IJ3*กH
)����'��'E� /�<�E�	ก�����	3��P��*C�*Q��*%�=�*�*�����ก�1C�*����B2�-
%�)ก���C�*/�*)'�&��D� 
d A�
E'*�'��&�*ก�E�'��3���*  
 (C) �	�E���>�1'ก IJ3*/�%�2=��A)=�)H�KJ*ก�����	3��P��*Q��*%�=�*�*�����ก�1C�*����B2
�-
%�)ก���A�/�*)'�&��D� d ��+3�*/�ก/�*)'�&&�*ก�E�'�	2�D*�-
%�)ก���2	3ก?���*C���
�' P���-
%�)ก���2	3
ก?���*)&
�'��FEA�/�*)'�&�&	�'ก��A�
E'*�'��2	32?�ก�� Jก!���3���*  

 
����������5�����ก%�ก�������	
�����2%�
�����������ก�6�� 
 G�ก��'�&�E�&�
�	�	DC�*P
E��/�*)'�&2�D* 76 /�*)'�& /��?��%��A��F�C�*PG�2	3Q&�/?�P�กP�ก��>�
���/�*)'�& (&FPG�2	3���ก�1 Q&�/�*)'�&2	3�	�E�&�
�	2	3%F*ก'E� /��	%	2	3�C=�ก'E�) �,���2?�A)=�)H��F�P11ก��
���	3��P��*Q��*%�=�*�*�����ก�1C�*����B2�-
%�)ก�����>�ก�-E�/�*)'�&
E�*d 2	3�	�(
(A��
(*,+D�2	3<&=
%��)
-%?���@���ก��)�J3*2	32?�A)=�ก(&��ก!9�ก�����	3��P��*�
(*Q��*%�=�*A�ก�-E�/�*)'�&
E�* d A�
E'*
�'����)'E�* ,. . 2540 KJ* 2550 กH�+�ก��2	3����2 <2�<&=�	ก�����	3��P��*��11��
��P�ก���	3��B��
)��*/�ก'(ก8
ก��9�� �!"ก(/A��: 2540 IJ3*�	G�2?�A)=�E��*(�1�2�	ก�����1
�'�&�*��ก��+3��2	�1ก�1�*(�
%ก-�)��ก
E�* d ���ก�1ก�1ก��&?���(��Q�1��� �!"ก(/C�*��"1��<2�2	3�	��ก!9���j&�%�	Q&�ก���&
ก?�P,*B�!	�*��ก2�D*A�
E'*�'��&�*ก�E�'P��กE��)�=���D� G�กH�+�2?�A)=�	ก���*2-�Q&�
�*/�ก

E�*����2 <)��C=�����ก C9��&	�'ก��กH%����K%E*��ก<&=�,(3�CJD� P��)�ก'(�����)��/���Jก
E�<�กH/�
,1'E� (ก) ก�-E�/�*)'�&2�*B���)�+�2	3�	/�*)'�&2	3�	�E�&�
�	2	3%F*��D�<&=PกE/�*)'�& P,�E �E�� P��
�ก ��>�
=� 
IJ3*/�
�D*��FEAก�= d ก�1/�*)'�&�?�,F�IJ3*��>�2	3
�D*C�*Q�**���-
%�)ก���2	3�	ก��A
=P�**���C=�C=� P�� 
 



3 

 

�-
%�)ก����,+3�ก��%E*��ก�+3� d 2?�
A)=P�**��A��-
%�)ก�������B22	3
Aก�=/���%&* ()�+� Sunset Industry �
E� 
�-
%�)ก�����%F1 ��>�
=�) �	P�*/F*2	3
/��=��<�2?�*��A��-
%�)ก���2	3
C���
�'��H'P��%����K/E�G�
�1P2�
<&=%F*ก'E���3���* (C) %?�)��1ก�-E�
/�*)'�&A�1�(�'9,+D�2	3�C
�-
%�)ก���
2	3%?���@C�*����2  IJ3*<&=PกE/�*)'�&
0��
(*�2�� 
�1-�	 ����* ��-$�� 
%��1-�	 P�� �����
%	�� ��>�
=���D� 
/��	ก��ก��/-ก
�'C�*�-
%�)ก���2	3
,J3*,�ก���*2-�Q&�
�*/�ก

E�*����2  P���-
%�)ก����,+3�ก��
%E*��ก�+3� d ��FE��>�/?��'���ก P
E 
���กl'E� Excess Churning Index C�*
/�*)'�&�	D/��	�E�<�E��ก��+3����	�1�2	�1
ก�1/�*)'�&�+3� d2	3
�D*��FEQ&���1 IJ3*

)����'��'E��-
%�)ก���2�D*)���A�/�*)'�&�)�E��	D/�C���
�'<�,�=�� d ก�� A�C9�2	3ก�-E�/�*)'�&2	3

�D*��FEQ&���1)E�*��ก<� (�
E� ,(!9-Q�ก ���%'���� ,(/(
� 
��BF�( �,1-�	 ก�@/�1-�	 P��)��*��� ��>�

=�) ก��1�	�E� Excess Churning Index 2	3%F*ก'E� �?��$(1��2	3%��)
-%�G�&F�)�+��/���>�'E� ก��C���
�'C�*
�-
%�)ก���A�ก�-E�/�*)'�&A�,+D�2	3�C
�-
%�)ก���&�*ก�E�' 
E�*กH�	%E'�A�ก��%�=�*P�*/F*A/A���+3�*
G�
�1P2�2	3&J*&F&P�**��/�ก�-
%�)ก����+3� d A�/�*)'�&Aก�=��	�*ก�� A)=<)��C=���2?�*��A�/�*)'�&2	3
��>�,+D�2	3�C
�-
%�)ก���P��/�*)'�&��1 d <&=��กCJD�
���?�&�1��3���*4  
 


�	�2%�

	��	�6�ก��+�7
�������ก�����	�
�"���#8���� 
 A�2 '��!)�=�K�&<��	D ก��,�Z���-
%�)ก���<2��*<�E%����K)'�*,J3*,�G����Q�
��2	3<&=/�ก
�'��<&=���	�1A���+3�*��
��P�ก���	3���)�+��ก�1A�2 '��!2	3GE����<&=�	ก
E�<� 2�D*�	D�,����E��*(�
&������%)��"�	P�'Q�=�2	3/��E���E��*��E�*
E���+3�*A�������' �����>�G���+3�*��/�ก�O@)�ก��C�&

                                         
4
 A�ก�9	C�*%��/�*)'�&
��P&�B��A
=�+� /�*)'�&�O

��	 ���� P�����$('�% 
E�*กH�	�E� Excess Churning Index 2	3%F* IJ3*�E�/���>�G���

/�ก�O@)��'��<�E%*1A�,+D�2	3�)�E��	D��>�%?���@      



4 

 

&-�ก���=�2	3��+D���*C�*%)��"��* A�C9�2	3�'��<�E�
+3���3�
E�ก��Nmn�
�'C�*� �!"ก(/Q�ก Q&��0,��ก�-E�
����2 �-Q��กH�	G�2?�A)=ก��P%�*(�2-�Q�ก<)��C=���%FEก�-E�����2 PK1���
	���กCJD���+3��2	�1ก�1A��&	
 
�,���0���D�Q�ก�%2	3�E��*(�1�2/��E��
�'Q&����	�1�2	�1�)�+��A�2 '��!2	3GE�����*�	<�E��ก��ก 
 A�2 '��!2	3GE���� P�**��<2��	�'���+&)�-E�%F*A�ก��
�1%��*
E�P�*/F*A/2	3&	ก'E�A��F�C�*
�E�/=�*2	3�%��Q&��-
%�)ก���2	3ก?���*C���
�'�����+3�*��/�กก���,(3�CJD�C�*ก���*2-�/�ก
E�*����2  P
E
ก��2	3�-
%�)ก���<2�/�C��1<
ECJD�<�%FE�-
%�)ก���ก��G�(
2	3%����K%�=�*�F��E��,(3�2	3%F*CJD�<&=
E�<�
A�2 '��!)�=���D� GF=���ก�1ก��P��P�**��<2�/�
=�*�	ก���*2-��,+3�%�%�2-���-!��P���*���'���F=2	3
/?���>�
E�ก��1'�ก��G�(
%���A)�E��E�*)�	ก��	3�*<�E<&= �,+3�2	3/�<&=�	�'��%����KA�ก����1ก��KE��2�&
�2�Q�Q��	A)�E d /�ก
E�*����2 <&=��E�*�	���%(2$(B�,��กCJD� IJ3*%K�1��2	3/��	121�2%?���@�(3*A�ก��
2?���+3�*�	DA)=%?���H/<&= กH�+�%K�1��ก�� Jก!�P���)�'(2�����A�����2 2	3�	��FE��>�/?��'���ก��3���* P
EกH
��>�2	3�E��%	�&��'E� �	%K�1��ก�� Jก!���&�1%F*/?��'�<�E�=��2	3ก��12-E��22��,��ก�2	3�	�E�C�*
�<�ก�1ก��
&?���(�ก(/ก���ก����	��ก��%��A��
(*,�9(
��A��F�C�*Q��*ก��,(� !
E�* d 2	3<�EกE�A)=�ก(&ก��%�=�*�*��
�'���F=A)�E��E�*�	���%?���@P
E��E�*<� 2�*&=���-�%*����*IJ3*กH�+�GF=��	�� กH�	/?��'���ก2	3
=�*ก���,	�*
A1��1��*'-Z(��กก'E��'���F=  (�,�����FEA�%�*��2	3�	�E��(��P11 `��ก��>���ก ��C��>�Q2c) ��+3��-�2��P��
�-�%*���
E��	D���/�ก��กH2?�A)=2-กLM��
ก��FEA� `ก����ก�����	
��
��	�ก	���ก�	��������	
c �,���2-ก
LM��2	3�ก	3�'C=�*
E�*กH%����Q�
��ก��/J*�ก(&&-��B�,CJD�<&= ก�E�'�+� %K�1��ก�� Jก!�<&=C��1�(ก��
ก�� Jก!��-9B�,
3?�A�����
��&2	3
�,�A/ GF=��	��<&=��1A1��1��*�-9'-Z(/�กQ��*ก��,(� !�,+3�A
=A�ก��
2?�*��A�����2	3
�,�A/ P��B��ก��G�(
��* (1�*%E'�) กH%����K/=�*P�**����2?�*��2	3
3?�ก'E�'-Z( (�
E�
/=�*P�**��/1��(@@�Q2��2?�*������B22	3
=�*A
=�'���F=�,	�*��&�1��(@@�
�	 ��>�
=�) A���
���E�/=�*

��&2	3
�,�A/�
E�ก�� P
E��E�*<�กH
�� %�*��<2�Q&��'�กH/���>�GF=��1B���G��%	��)�E��	DA�2	3%-&)�ก���
2�D*)�����*<�E%����K/�)�-&,=���ก/�ก `ก�1&�กP)E*�'���%+3��c �	D<&=Q&���H'    
 
 
 
 
 


